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Reason for 
change:

We would like to propose changes to 11.10-3 TC_26_6_5_9, to align it to 51.010-1.

The MAX_RETRANS value sent in the SI messages is currently set to 7. This should be set to 1 as specified in the section 26.6 defaults.

The initial Cell Channel Description for Cell B under DCS 1800 currently contains ARFCNs 590, 650, 750 and 850. According to the Defaults section 26.6.15, this should only contain ARFCN 520. Therefore we propose to change the Cell Channel Description to contain this value.

There is also a problem with the test step FnArith. If the frame numbers are either side of the modulo 42432 boundary, the difference between them will be incorrectly reported as (42432 - real difference). Therefore we propose to modify the test step to correct for this if the absolute difference between frame numbers is greater than 42432 / 2.





Clauses affected:
TC_26_6_5_9, FnArith
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Other 
comments:
GSM_L3_MS_V4300 is affected by both changes. GSM_MS_EF_V4300 and GSM_MS_DB_V4300 are affected by the FnArith change.

Test Case Dynamic Behaviour

Test Case Name:
TC_26_6_5_9

Group:
GSM_L3_MS_v4300/RR/

Purpose:
To verify the function of timer T3124 and the contents in the message HANDOVER FAILURE

Default:
OtherEventsFail_01

Comments:


Nr
Label
Behaviour Description
Cref
V
Comments

1

START T_guard(300)




2

+BasicServiceMT( TSPX_MTBscSvcF, TSPX_MTChRateF)




3

(TCV_Pwrlvl_ho:= INT_TO_BIT( TSPX_PwrlvlA, 5))




4

+IdleUpdated( C_E_default, C_CellA, C_SCH_A, C_BCCH_A_1, C_Immass, C_S0, C_SlotNU, C_SlotNU, C_SlotNU, C_BCC, C_TxInt_5, C_Max_1, C_NECI_0, C_ATT_0, TimingAdv( 30), C_BABR_0, C_cch_1Comb, C_BPM_3, C_T3212_0,  C_ci_cellA, C_MCC_1, C_PLMN_1, C_LAC_1, CellOpt_01, CellChDes_02, CellChDes_03, C_CellReselectHys12, TSPX_MSTxpwrMax, TSPX_MSTxpwrMax, BcchFreqLst_01, BcchFreqLst_Omit, BcchFreqLst_48, BcchFreqLst_Omit, C_noRestablishment, C_BCC, C_NCC, C_Start_Tmsi, TSPX_SDCCH4SubDef, TSPX_CKSNDef, TSPX_RANDDef, C_arfcnA, C_arfcnAd, TSPX_IMSI, C_Test_fh, C_NCCP_2)




5

+CCConfigTCH_pwr( TSPX_TCHHSubDef, C_Ass, TSPX_TmSltDef, TSPX_TscDef, TimingAdv( 30), C_BABR_0, C_cch_1Comb, C_BPM_3, TCV_ChMod.mode, FreqTCH(C_arfcn_tchA), FreqTCH(C_arfcn_tchAd), TSPX_MSTxpwrMax)




6

+StartCellB( C_E_neighbourdefault, C_arfcnB, C_arfcnBd,  C_Immass, TCV_slot, TCV_tsc, TimingAdv( 30), C_TxInt_5, C_Max_1, C_NECI_0, C_ATT_0, C_BABR_0, C_cch_1Comb, C_BPM_3, C_T3212_0, C_MCC_1, C_PLMN_1, C_LAC_1, CellChDes_04, CellChDes_24, BcchFreqLst_01, BcchFreqLst_48, C_noRestablishment, C_BCC, C_NCC)




7

+FullRateCh_B_1_pwr(  C_Ass, TSPX_TmSltC, TSPX_TscC, ChMod_speech,FreqTCH( TSPX_TCHcarrierB), FreqTCH( TSPX_TCHcarrierBd), TSPX_PwrlvlA, TSPX_PwrlvlA, TimingAdv( 30), C_BABR_0, C_cch_1Comb, C_BPM_3)




…
…
…
…
…
…

Structured Type Constraint

Constraint Name:
CellChDes_24

Structured Type:
CCHD

Derivation Path:


Comments:
ARFCN 520: range 512 format

Element Name
Element Value
Comments

Iei
‘01100010’B


Rfl
'89000000000000000000000000000000'O
ARFCN 520: Range 512 format

Detailed Comments:


+----------------------------------------------------------------------------------+

|                           Test Step Dynamic Behaviour                            |

+--------------------+-------------------------------------------------------------+

|Test Step Name      :FnArith(fn, fn1 : FN)                                        |

|Group               :GSM_L3_MS_v4300/Miscellaneous/                              |

|Objective           :                                                             |

|Defaults            :OtherEventsFail                                              |

|Comments            :To calculate the difference of two frame numbers 'fn1' and 'f|

|                     n'. The test step uses TCV_Cnt1, TCV_Cnt2, TCV_K and TCV_Time|

+----+-------+-------+--------------------------+--------------+--------+----------+

| Nr | Label |            Behaviour             |     Cref     |Verdict | Comments |

+----+-------+----------------------------------+--------------+--------+----------+

| 1  |       |(TCV_Cnt1 := (51 * ((BIT_TO_INT( f|              |        | GSM  04.0|

|    |       |n.t3) - BIT_TO_INT( fn.t2) + 26) M|              |        |8 section |

|    |       |OD 26)) + BIT_TO_INT( fn.t3) + (13|              |        |10.5.2.30.|

|    |       |26 * BIT_TO_INT( fn.t1_)),        |              |        |TCV_K stor|

|    |       |TCV_Cnt2 := (51 * ((BIT_TO_INT( fn|              |        |es the fra|

|    |       |1.t3) - BIT_TO_INT( fn1.t2) + 26) |              |        |me number |

|    |       |MOD 26)) + BIT_TO_INT( fn1.t3) + (|              |        |difference|

|    |       |1326 * BIT_TO_INT( fn1.t1_)))     |              |        |.         |

|    |       |                                  |              |        |TCV_Time s|

|    |       |                                  |              |        |tores the |

|    |       |                                  |              |        |time diffe|

|    |       |                                  |              |        |rence in m|

|    |       |                                  |              |        |s.        |












| 2  |       | [TCV_Cnt2 > TCV_Cnt1]            |              |        |1. fn1 > f|

|    |       |                                  |              |        |n         |

| 3  |       |  (TCV_K := TCV_Cnt2-TCV_Cnt1)    |              |        |          |

| 4  |       |   [TCV_K < 21216]                |              |        |          |

| 5  |       |    (TCV_Time := TCV_K * 120 / 26,|              |        |          |

|    |       |    TCV_Positive := C_Yes)        |              |        |          |

| 6  |       |   [C_Yes]                        |              |        |2.        |

| 7  |       |    (TCV_K := TCV_Cnt1-TCV_Cnt2 + |              |        |          |

|    |       |    42432, TCV_Time := TCV_K * 120|              |        |          |

|    |       |    / 26,                         |              |        |          |

|    |       |    TCV_Positive := C_No)         |              |        |          |

| 8  |       | [C_Yes]                          |              |        |fn1 <= fn |

| 9  |       |  (TCV_K := TCV_Cnt1-TCV_Cnt2)    |              |        |          |

| 10 |       |   [TCV_K < 21216]                |              |        |          |

| 11 |       |    (TCV_Time := TCV_K * 120 / 26,|              |        |          |

|    |       |    TCV_Positive := C_No)         |              |        |          |

| 12 |       |   [C_Yes]                        |              |        |2.        |

| 13 |       |    (TCV_K := TCV_Cnt2-TCV_Cnt1 + |              |        |          |

|    |       |    42432,                        |              |        |          |

|    |       |    TCV_Time := TCV_K * 120 / 26, |              |        |          |

|    |       |    TCV_Positive := C_Yes)        |              |        |          |

+----+-------+-------+--------------------------+--------------+--------+----------+

|Detailed Comments:  |1.  A positve value is always returned in TCV_K and TCV_Time.|

|                    |The TCV_Positive flag is set to TRUE if fn1 < fn.            |

|                    |2. If TCV_Cnt2-TCV_Cnt1  > (42432 / 2) then we must assume th|

|                    |at Fn occurs after Fn1, but TCV_Cnt1 would be greater than 42|

|                    |432. Vica-versa for the other case.                          |

+--------------------+-------------------------------------------------------------+
